P 2L d https://lwww.pass2lead.com/h13-311 v3-0.html
ass ea 2024 Latest pass2lead H13-311 V3.0 PDF and VCE dumps Download
https://Pass2Lead.com

H13-311 V3.09%A

HCIA-AI V3.0

Pass Huawei H13-311 V3.0 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/h13-311 v3-0.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

H13-311 V3.0 VCE Dumps | H13-311 V3.0 Exam Questions | H13-311 V3.0 Braindumps 1/3


https://www.pass2lead.com/h13-311_v3-0.html
https://www.pass2lead.com/h13-311_v3-0.html
https://www.pass2lead.com/h13-311_v3-0.html

P 2L d https://lwww.pass2lead.com/h13-311 v3-0.html
aSS ea 2024 Latest pass2lead H13-311 V3.0 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

PyTorch Which of the following functions does not have?
A. Inline keras

B. Support dynamic graph

C. Automatic derivative

D. GPU accelerate

Correct Answer: A

QUESTION 2

There are many commercial applications for machine learning services. What are the main business scenarios
covered? (Multiple Choice)

A. FInancial product recommendation
B. Predictive maintenance

C. Telecom customer retention

D. Retailer grouping

Correct Answer:. ABCD

QUESTION 3

TensorFlow only supports Python and R language
A. True

B. False

Correct Answer: B

QUESTION 4

Bagging In integrated learning, the relationship between each base learner is?
A. Additive relationship

B. relationship

C. The latter model must be built on top of the previous model D. Independent
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Correct Answer: B

QUESTION 5

The naive Bayes algorithm does not require independent and identical distribution among sample features.
A. TRUE

B. FALSE

Correct Answer: B
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